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def tipose(self):
if self.vathmos>=10:
print 'NMPOATETAI'
else:

print 'NAPANEMMETAI'

B)mathitis1=Mathitis(103,'NIKOAAQY',19)
mathitis2=Mathitis(105,'TEQPTIOY',9)
v) mathitis1.tipose()

8) print (mathitisl.vathmos+mathitis2.vathmos)/2.0
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OEMAT
def ypologismos(tem):
if tem>=1 and tem<=3:
xr=tem*120
elif tem>=4 and tem<=6:
xr=3*120+(tem-3)*100
else:
xr=3*120+3*100+(tem-6)*70
return xr
s=0
p10=0
foriin range(50):
a=int(input('Awoe aplOuo tepoyiwv'))
k=ypologismos(a)
print 'Xpéwon:'k
s=s+k
if a>10:
p10=p10+1
print 'ZuvoAika €coda:',s
pososto=(p10/50.0)*100

print 'Mocootod mehatwy e mepLloocotepa amno 10 tepdyia:',pososto

OEMA A
KOD=[]
VATH=(]
code=raw_input('Awoe kwbKo:')
while code!="TEAOZ":
vathmos=int(input('Awoe Babuo:'))
while vathmos<1 or vathmos>100:
vathmos=int(input('Awos Babuo:'))

KOD.append(code)



VATH.append(vathmos)
code=raw_input('Awoe KwdKo:')
foriin range(len(VATH)):
s=s+VATH[i]
mo=s/len(VATH)
print 'O M.O eivat:',mo
n=len(VATH)
max=VATH[O0]
foriin range(n):
if VATH[i]>max:
max=VATH]Ii]
foriin range(n):
if VATH[i]==max:
print KOD[i]
f=open('epityxon.txt','w')
p=1
foriin range(n):
if VATH[i]>60:
f.write(str(p)+'.'+KOD[i]+'\n')
p=p+1

f.close()



